

### Indian Institute of Technology Palakkad भारतीय प्रौद्योगिकी संस्थान पालक्काड

Nurturing Minds For a Better World

### **NOTICE INVITING E-TENDER (NIT)**

S. No.	Events	Date and Time
1	Notice Inviting BID (NIT) No.	17/ IITPKD/EWD/HORT/2024-25/013
2	Name of work	Construction of Permanent campus for IIT Palakkad under Phase 1A SH: Development Work Horticulture Work around A1, K1, K2 & L1 buildings at Sahyadri Campus
3	Date of Publication	02-07-2024
4	Date / Time of closing	22-07-2024, 1500 hrs
5	Opening of Technical cum Eligibility Bids	22-07-2024, 1530 hrs
6	Estimated Cost put to bid	Rs.46,93,892/-
7	Earnest Money Deposit (EMD)	Rs.93,878/-
8	Stipulated date of completion	120 Days

Engineering works Division Indian Institute of Technology Palakkad Kanjikode West, Palakkad – 678 623 Email: ewd@iitpkd.ac.in Indian Institute of Technology Palakkad (hereinafter called "IITPKD") invites ONLINE percentage rate Bids (Cover-1: Eligibility cum technical Bid, Cover-2: Financial Bid) from approved and eligible contractors at Sahyadri Campus, Pudussery PO, Kanjikode West, Palakkad- 678623. Interested bidders may submit their bids ONLINE at https://mhrd.ewizard.in

1.	Name of Work	Construction of Permanent campus for IIT Palakkad under Phase 1A SH: Development Work Horticulture Work around A1, K1, K2 & L1 buildings at Sahyadri Campus
2.	Estimate Cost put to Tender	Rs.46,93,892/-
3.	Earnest Money Deposit (EMD)	Rs.93,878/ Bids without paying the EMD in gateway of E- Wizard portal shall be DISQUALIFIED
4.	Period of completion	120 Days
5.	Validity of the tender	75 days from the date of opening of eligibility bid.
6.	Last Date for Submission of e-Tender	22-07-2024, 1500 hrs
7.	Date of Opening of the Eligibility document	22-07-2024, 1530 hrs
8.	Date of opening of the financial bid	Will be intimated later to eligible bidders through online in E- Wizard portal

### **DEFINITION**

Officer inviting tender : Chairman, EWD

Engineer in charge : Executive Engineer (Civil), EWD

Accepting authority : Chairman, EWD

Time allowed for submission of Performance security: 10 days

Maximum allowable extension with late fee at the rate of 0.1% of PS per day beyond the period of 10 days - 5 days.

No of days from the date of issue of letter of acceptance for recurring date of start: 7 days

#### 1.GENERAL

- 1.1 Indian Institute of Technology Palakkad (hereinafter called "IITPKD") invites percentage rate tenders under two-bid System. The bid document consists of a schedule of quantities of various items to be executed, scope of works, terms and conditions of the contract and other necessary documents can be seen and downloaded from <a href="https://mhrd.ewizard.in/">https://mhrd.ewizard.in/</a>
- 1.2 The bids will be opened by the competent authority of IIT Palakkad on behalf of the IIT Palakkad
- 1.3 The bids shall be submitted online in E- Wizard Portal https://mhrd.ewizard.in/
- 1.4 The responsibility of submission of the bids on or before the last date shall rest with the tenderer.
- 1.5 Canvassing whether directly or indirectly, in connection with bids is strictly prohibited and the bids submitted by the contractors who resort to canvassing will be liable for rejection.
- 1.6 The bidder shall bear all costs associated with the preparation and submission of his bid and IITPKD shall in no case be responsible or liable for those costs, regardless of the conduct or outcome of the tender process.
- 1.7 IITPKD will respond to any request for clarification or modification of the Tender Document that is received up to **FIVE (05) days** prior to the deadline for submission of bids prescribed by IITPKD. For this purpose, the prospective bidder(s) requiring clarification in the Tender Document shall notify IITPKD in writing to ewd@iitpkd.ac.in. Any such clarification, together with all details on which the clarification had been sought, will be published on the E-Wizard Portal.
- 1.8 Except for any such clarification by the Institute, which is expressly stated to be an addendum/Corrigendum to the tender document issued by the Chairman, EWD, IIT Palakkad, no written or oral communication, presentation, or explanation by any other employee of any of the Sections/Departments of the Institute, shall be taken to bind or fetter the Institute.

### 1.9 EARNEST MONEY DEPOSIT (EMD)

- i. The bidder shall furnish EMD of **Rs.93,878/-** through an online payment gateway in the E-Wizard.
- ii. Bids without paying the EMD in gateway of E- Wizard portal shall be DISOUALIFIED.
- iii. EMD of the successful bidder shall be returned on receipt of the prescribed Performance Security by the successful bidder and after signing of the contract agreement.
- iv. EMD of the unsuccessful bidders will be returned to them at the earliest after expiry of the final bid validity and latest by the 30th day after the award of the contract.
- v. 100% EMD shall be forfeited
  - a. if the bidder withdraws his /their bid after opening of the bid during the period of validity of the tender.
  - b. if the successful bidder refuses or neglects to execute the contract or fails to furnish the required Performance Security within the time frame specified

in the bid document.

- c. if the successful bidder fails to execute the Contract within specified timeline
- vi. The firms who are registered with National Small Industries Corporation (NSIC) / or Small Scale Industrial (SSI)/ Micro & Small Enterprises (MSEs) are exempted from furnishing the EMD. Self-attested photocopy of valid registration certificate issued by competent authority for "Horticulture works' to be uploaded with the eligibility bid for exemption of EMD.

### 2. ADDENDUM / CORRIGENDUM IN THE TENDER DOCUMENT

- 2.1. At any time prior to the deadline for submission of bids, IITPKD may, for any reason, whether at its own initiative or in response to a clarification requested by a prospective Bidder, modify the Tender Document by way of amendment(s)/ Corrigendum
- 2.2. Addendum/Corrigendum will be intimated through the E- Wizard portal and the bidders shall ensure that the addendums are carried out in the bid before submission. The addendums will not be published in newspapers. Bidders should regularly visit the E-Wizard portal to keep themselves updated.
- 2.3. No extension in the bid due date/ time shall be considered on account of delay in submission of bid.

### 3. COMPOSITION OF THE TENDER DOCUMENT

- 3.1 The Tender Document comprises of:
- (a) Schedule of Quantity (Annexure I)
- (b) Eligibility Criteria (Annexure-II)
- (c) Documents to be uploaded (Annexure III)
- (d) Format of Performance Security (Annexure-IV)
- (e) Declaration (Annexure-V)
- (f) Fall clause notice certificate (Annexure VI)
- (g) Letter of Transmittal (Annexure VII)
- (h) Notice for appointment of Arbitrator (Annexure VIII)
- (i) Reference of disputes and amount claimed for each dispute to the Chairman (EWD) (Annexure IX)
- (j) Form of Application by the Contractor (Annexure X)
- (k) Declaration for Not Blacklisted / debarred (Annexure XI)
- (I) Drawing

The bidder shall not make or cause to be made any alteration, erasure or obliteration to the text of the Tender Document.

### 4. LANGUAGE/FORMAT/SIGNING OF THE BID

4.1. The bid prepared by the Bidder and all correspondence and documents related to the tender exchanged by the Bidder and IITPKD shall be in English and the Contract shall be construed and interpreted in accordance with that language. If any of the brochures, leaflets or communication is prepared in any language other than English, a translation of such document, correspondence or communication shall also be provided at the cost and risk of the bidder. The translation so provided shall prevail in matters of interpretation. The bidder, with respect to such documents,

- correspondence and communications, shall bear the costs and risks of such translation.
- 4.2. The bid shall not contain any internalizations, erasures, overwriting, except to correct errors made by the bidder, in which case the person or persons signing the bid shall initial such corrections with date.
- **5.** Bids submitted in any mode other than ONLINE will be rejected outright. No prices should be included in the technical bid. Financial Bid should be filled as per the financial bid document.

### **6. PERCENTAGE RATE CONTRACT**

The bidder should quote percentage above / below on the total amount of tender in percentage rate tender. If the tenderer does not quote any percentage above / below on the total amount of tender the tender shall be treated as invalid and will not be considered as the lowest tender.

### 7. CONFORMITY OF THE TENDER DOCUMENT

The bid document consisting of specifications, the schedule of quantities of various items to be executed and the terms and conditions of the contract and other necessary documents can be seen in the tender document.

### 8. PERIOD OF VALIDITY OF BIDS

Bids shall remain valid for a period of 75 (Seventy Five) days after the date of deadline for submission of bids prescribed by the Institute.

### 9. MODIFICATION AND WITHDRAWAL OF BIDS

The bidders may modify or withdraw the bid after submission only through ONLINE mode, within the period of deadline for submission of bids. No bids can be modified subsequent to the deadline for submission of Bids. No bids can be withdrawn in the interval between the bid submission deadline and the expiration of the bid validity period.

### 10. OPENING AND EXAMINATION OF BIDS

- 10.1. The Eligibility cum technical bids (Cover 1) will be opened on the prescribed date and time as mentioned in the Bid document in ONLINE mode.
- 10.2. The Institute will evaluate the technical bids for the eligibility criteria. Those bids, who satisfy the eligibility criteria will be considered for opening their financial bids. Those bids which are found to be either non-responsive, not satisfying the eligibility criteria will not be considered for opening their financial bids and will be rejected.
- 10.3. The date of opening of financial bid (cover 2) will be intimated later to the eligible bidders through E- wizard portal.
- 10.4. Arithmetical errors will be rectified on the following basis. If there is a discrepancy between the unit price and the total price, which is obtained by multiplying the unit price and quantity, or between subtotals and the total price, the unit or subtotal price shall prevail and the total price shall be corrected. If there is a discrepancy between words and figures, the amount in words shall prevail.
- 10.5. In case the lowest tendered amount (estimated cost + amount worked on the basis of percentage above/below) of two or more contractors is same, such lowest contractors will be asked to submit sealed revised offer in the form of letter mentioning percentage above/ below on estimated cost of tender including all sub

sections/sub heads as the case may be, but the revised percentage quoted above/below on tendered cost or on each sub section/ sub head should not be higher than the percentage quoted at the time of submission of tender. The lowest tender shall be decided on the basis of revised offers. In case any such contractor refuses to submit a revised offer, then it shall be treated as withdrawal of his tender before acceptance and 50% of earnest money shall be forfeited. If the revised tendered amount of two more contractors received in revised offer is again found to be equal, the lowest tender, among such contractors, shall be decided by draw of lots in the presence of Chairman (EWD), the lowest contractors those have quoted equal amount of their tenders. In case all the lowest contractors those have quoted the same tendered amount, refuse to submit revised offers, then tenders are to be recalled after forfeiting 50% of EMD of each contractor. Contractor(s), whose earnest money is forfeited because of non-submission of revised offer, shall not be allowed to participate in the re-tendering process of the work.

### 11. CLARIFICATION OF BIDS

During the bid evaluation, the Institute may, at its discretion, ask the Bidder for a clarification of its bid. The request for clarification and the response shall be through ONLINE mode ONLY and no change in the price or substance of the bid shall be sought, offered or permitted.

### 12. AWARD CRITERIA

The competent authority on behalf of the IIT Palakkad does not bind itself to accept the lowest or any other bid and reserves to itself the authority to reject any or all the bids received without assigning any reason. All bids in which any of the prescribed conditions do not full fill including that of giving conditional rebate is put forth by the bidders shall be summarily rejected. The competent authority on behalf of the IIT Palakkad reserves to himself the right of accepting the whole or any part of the bid and the bidders shall be bound to perform at the rates quoted.

### 13. INSTITUTE RIGHT TO ACCEPT/REJECT BIDS

The Institute reserves the right to accept or reject any bid or to annule the bidding process and reject all bids at any time prior to Contract award, without thereby incurring any liability to the Bidders.

### 14. AWARD OF WORK/PURCHASE ORDER

Prior to the expiration of the period of bid validity, the institute will issue the Work Order to the successful Bidder in writing. The Work order will form part of the Contract.

### 15. CONTRACT AGREEMENT

On receipt of work Order from the Chairman (EWD), the successful bidder shall sign with the date on each page of the work order and return it to the Chairman EWD, along with the Performance Security. Copy of Work Order duly signed by the successful Bidder on each page shall constitute the Contract Agreement.

### **16. PERFORMANCE SECURITY**

Within 10 (TEN) DAYS of receipt of notification of award from the Chairman EWD, the successful Bidder shall furnish the performance security equal to **5% of the Contract value** The Performance Security shall be valid all along the contract period and shall

extend up to sixty (60) days after the date of completion of work accepted by the Engineer in Charge.

The performance security shall be a bank guarantee (in the format as provided in (in the format as provided in Annexure- IV of the bidding documents) issued by any Scheduled Bank in India acceptable to the Purchaser or a Demand Draft favoring, INDIAN INSTITUTE OF TECHNOLOGY PALAKKAD payable at PALAKKAD. The performance security shall be returned to the contractor not later than fifteen (15) days after its expiration.

**16.1 SECURITY DEPOSIT**: **2.5**% of tendered value. The contractor whose tender is accepted will also be required to furnish by way of Security Deposit for the fulfillment of his contract, an amount equal to **2.5**% of the tendered value of the work. The Security deposit at the rate of 2.5% of the Gross amount of each running bill and final bill till this some deducted will amount to Security deposit of the tendered amount of work. Such deductions will be made at the rates mentioned above in the form of Fixed Deposit Receipt / E- Bank Guarantee of Bank. In case a fixed deposit receipt of any Bank is furnished by the contractor to the Institute as part of the security deposit and the Bank is unable to make payment against the said fixed deposit receipt, the loss caused thereby shall fall on the contractor and the contractor shall forthwith on demand furnish additional security to the Government to make good the deficit.

## 16.2 CONTRACTOR LIABLE FOR DAMAGES, DEFECTS DURING DEFECT LIABILITY PERIOD (12 MONTHS) & RELEASE OF SECURITY DEPOSIT

If the contractor or his working people or servants shall break, deface, injure or destroy any part of building in which they may be working, or any building, road, road kerb, fence, enclosure, water pipe, cables, drains, electric or telephone post or wires, trees, grass or grassland, or cultivated ground contiguous to the premises on which the work or any part is being executed, or if any damage shall happen to the work while in progress, from any cause whatever or if any defect, shrinkage or other faults appear in the work within twelve months (six months in the case of work costing Rs. Ten lakhs and below except road work) after a certificate final or otherwise of its completion shall have been given by the Engineer in- Charge as aforesaid arising out of defect or improper materials or workmanship the contractor shall upon receipt of a notice in writing on that behalf make the same good at his own expense or in default the Engineer-in-Charge cause the same to be made good by other workmen and deduct the expense from any sums that may be due or at any time thereafter may become due to the contractor, or from his security deposit or the proceeds of sale thereof or of a sufficient portion thereof. The security deposit of the contractor shall not be refunded before the expiry of twelve months (six months in the case of work costing Rs. Ten lakhs and below except road work) after the issue of the certificate final or otherwise, of completion of work, or till the final bill has been prepared and passed whichever is later. Provided that in the case of road work, if in the opinion of the Engineer-in-Charge, half of the security deposit is sufficient, to meet all liabilities of the contractor under this contract, half of the security deposit will be refundable after six months and the remaining half after twelve months of the issue of the said certificate of completion or till the final bill has been prepared and passed whichever is later.

### 17. CONTRACT DOCUMENTS

All documents forming part of the Contract (and all parts of these documents) are intended to be correlative, complementary and mutually explanatory. The Contract shall be read as a whole. The order of precedence of the Contract documents shall be as follows:

- 1. Contract Agreement
- 2. All other Forms
- 3. Bid documents

### 18. AMENDMENT TO CONTRACT

No amendment or other variation of the Contract shall be effective unless it is in writing, is dated, expressly refers to the Contract and is signed by a duly authorized representative of each party to the Contract.

### 19. CONTRACTORS RESPONSIBILITIES

The Contractor's obligations involve:

The work shall be executed as per Schedule of quantity / CPWD specifications and as per direction of Engineer /officer in charge of IIT Palakkad.

The contractors are advised to make site visits before participating in the tender. No such escalation claims will be entertained once taken up the work for any items mentioned in the schedule of quantity.

The supplying materials related to work completion, necessary transportation permits should be taken care of by the contractor. The work to be completed by the contractor at site including loading unloading transportation, handling & rehandling and required manpower charges etc.

### 20. TIME ALLOWED FOR CARRYING OUT THE WORK

The time allowed for carrying out the work will be **120 days** from the date of start. The date of start shall commence from the 7th day of issue of work order. The agency shall complete the work within the period specified in the tender document and sign the work order or within the period mutually agreed between Institute and Contractor.

### 21. TERMS OF PAYMENT

No Advance payment will be made. Running account shall be made by the Executive Engineer, EWD as per the Execution of items in the BOQ. Gross work to be done together with net payment /adjustment of advances for material collected, if any, since the last such payment for being eligible to interim payment - Rs. 10 Lakhs

The final bill shall be submitted by the contractor in the same manner as specified in interim bills within three months of physical completion of the work or within one month of the date of the final certificate of completion furnished by the Engineer-in-Charge whichever is earlier.

No further claims shall be made by the contractor after submission of the final bill and these shall be deemed to have been waived and extinguished. Payments of those items of the bill in respect of which there is no dispute and of items in dispute, for quantities and rates as approved by Engineer-in-Charge, will, as far as possible be made within the period specified here in under, the period being reckoned from the date of receipt of the bill by the Engineer-in- Charge, complete with account of materials issued by the Department and dismantled materials.

- (a) If the Tendered value of work is up to 1 Crore: 2 months
- (b) If the Tendered value of work is more than Rs 1 Crore and up to Rs. 10 Crore : 3 months

#### 22. TAXES AND DUTIES

- 22.1 The Contractor should ensure payment of all taxes, GST, levies and charges assessed by all municipal, state or national government authorities, in connection with the Goods and Services supplied under the Contract. Nothing extra shall be paid on any account. Rates quoted shall be inclusive of all taxes and duties.
- 22.2 GST, Building and other Construction Workers Welfare Cess or any other tax, levy or Cess in respect of input for or output by this contract shall be payable by the contractor and Government shall not entertain any claim whatsoever in this respect. The contractor shall deposit royalty and obtain necessary permits for supply of the red bajri, stone, kankar, etc. from local authorities. If pursuant to or under any law, notification or order any royalty, cess or the like becomes payable by the Institute and does not any time become payable by the contractor to the State Government, Local authorities in respect of any material used by the contractor in the works, then in such a case, it shall be lawful to the Institute and it will have the right and be entitled to recover the amount paid in the circumstances as aforesaid from dues of the contractor.

### 23.ASSIGNMENT

The agency shall not assign to any third party of the awarded Contract or any part thereof without the prior written consent of the Institute

### 24. GOVERNING LAW

The Contract shall be governed by and interpreted in accordance with the laws of India.

### 25. ACCEPTING AUTHORITY

The accepting authority - Chairman, EWD

(I) Estimated cost of work(II) Earnest Money(III) Performance GuaranteeRs.46,93,892/-Rs.93,878(III) Performance Guarantee

(IV) Security Deposit : 2.5% of tendered value

### 26. GENERAL RULES & DIRECTIONS:

Officer inviting tender	Chairman (EWD), Engineering Works Division
Engineer-in-Charge	Executive Engineer (Civil)
Accepting Authority	Chairman (EWD) with approval of Director, IIT Palakkad
Percentage on cost of materials and Labour to cover all overheads and profits	15%
Standard Schedule of Rates	CPWD Schedule of Rates, Analysis of Rates and Specifications (Horticulture & Landscaping)- 2020
Authority for fixing liquidated damages	Chairman, EWD
Specifications to be followed for execution of work	C.P.W.D Specification (Horticulture & Landscaping)-2020

#### **GENERAL TERMS AND CONDITIONS**

#### 1. TIME AND EXTENSION FOR DELAY

The time allowed for execution of the Works **shall be 120 days** or the extended time in accordance with these conditions given below shall be the essence of the Contract. The execution of the work shall commence from such time period as mentioned in the Bid or from the date of handing over of the site, notified by the Engineer-in-Charge, whichever is later. If the Contractor commits default in commencing the execution of the work as aforesaid, the performance guarantee shall be forfeited by the Engineer in Charge and shall be absolutely at the disposal of the Institute without prejudice to any other right or remedy available in law.

- 1.1 If the work(s) be delayed by:-
- (i) force majeure, or
- (ii) abnormally bad weather, or
- (iii) serious loss or damage by fire, or
- (iv) civil commotion, local commotion of workmen, strike or lockout, affecting any of the trades employed on the work, or
- (v) delay on the part of other contractors or tradesmen engaged by Engineer-in-Charge in executing work not forming part of the Contract, or
- (vi) any other cause like above which, in the reasoned opinion of the Engineer-in-Charge is beyond the Contractor's control. then upon the happening of any such event causing delay, the Contractor shall immediately give notice thereof in writing to the Engineer-in-Charge but shall nevertheless use constantly his best endeavours to prevent or make good the delay and shall do all that may be reasonably required to the satisfaction of the Engineer-in-Charge to proceed with the works. The contractor shall have no claim of damages for extension of time granted or events listed in sub clause
- 1.2. The contractor shall have no claim of damages for extension of time granted for events listed in sub clause above
- 1.3 In case the work is hindered by the Department or for any reason/event, for which the Department is responsible. The authority as indicated in Bid, if justified, give a fair and reasonable extension of time for completion of work Such extension of time shall be without prejudice to any other right or remedy of the parties in contract or in law; provided further that for concurrent delays under this sub clause and sub clause 1.1 to the extent the delay is covered under sub clause above the contractor shall be entitled to only extension of time and no damages. Request for rescheduling extension of time and no damages.
- 1.4 Request for extension of time to be eligible for consideration, shall be made by the Contractor in writing within fourteen days of the happening of the event causing delay on the prescribed forms i.e. Form of application by the contractor for seeking Form of application by the contractor for seeking extension of time respectively to the authority as indicated in Bid. The Contractor shall indicate in such a request the period by which extension of time is desired. With every request if at any time the actual progress of work falls behind the approved programme by more than 10% of the stipulated period of

completion of contract, the contractor shall produce a revised programme which shall include all details of pending drawings and decisions required to complete the contract and also the target dates by which these details should be available without causing any delay in execution of the work. A recovery as specified in Bid shall be made on a per day basis in case of delay in submission of the revised programme.

- 1.5 In any such case the authority as indicated in Bid may give a fair and reasonable extension of time for completion of work. Engineer -in-Charge shall finalize/ reschedule a particular mile stone before taking an action against subsequent mile stone .Such extension shall be communicated to the Contractor by the authority as indicated in Bid in writing, within 21 days of the date of receipt of such request from the Contractor in prescribed form. In the event of non application by the contractor for extension of time E-in-C after affording opportunity to the contractor, may give, supported with a programme a fair and reasonable extension within a reasonable period of occurrence of the event.
- 1.6 In case the work is delayed by any reasons, in the opinion of the Engineer-in-Charge, by the contractor for reasons beyond the events mentioned in clause 1.1 or clause 1.2 or clause 1.3 and beyond the justified extended date; without prejudice to right to take action under Clause 2, the Engineer-in-Charge may grant extension of time required for completion of work. The contractor shall be liable for levy of compensation for delay for such extension of time

### 2. WHEN CONTRACT CAN BE DETERMINED

Subject to other provisions contained in this clause, the Engineer-in-Charge may, without prejudice to any other rights or remedy against the contractor in respect of any delay, not following safety norms, inferior workmanship, any claims for damages and/or any other provisions of this contract or otherwise, and whether the date of completion has or has not elapsed, by notice in writing absolutely determine the contract in any of the following cases:

- i) If the contractor having been given by the Engineer-in-Charge a notice in writing to rectify, reconstruct or replace any defective work or that the work is being performed in an inefficient or otherwise improper or un-workman like manner shall omit to comply with the requirement of such notice for a period of seven days thereafter.
- (ii) If the contractor has, without reasonable cause, suspended the progress of the work or has failed to proceed with the work with due diligence and continues to do so after a notice in writing of seven days from the Engineer-in-Charge.
- (iii) If the contractor fails to complete the work or section of work with individual date of completion on or before the stipulated or justified extended date, on or before such date of completion; and the Engineer in Charge without any prejudice to any other
- right or remedy under any other provision in the contract has given further reasonable time in a notice given in writing in that behalf as either mutually agreed or in absence of such mutual agreement by his own assessment making such time essence of contract and in the opinion of Engineer-in-Charge the contractor will be unable to complete the same or does not complete the same within the period specified.
- (iv) If the contractor persistently neglects to carry out his obligations under the contract and/ or commits default in complying with any of the terms and conditions of the contract

and does not remedy it or take effective steps to remedy it within 7 days after a notice in writing is given to him in that behalf by the Engineer-in-Charge.

- (v) If the contractor shall offer or give or agree to give to any person in Government service or to any other person on his behalf any gift or consideration of any kind as an inducement or reward for doing or forbearing to do or for having done or forborne to do any act in relation to the obtaining or execution of this or any other contract for Government.
- (vi) If the contractor shall enter into a contract with Government in connection with which commission has been paid or agreed to be paid by him or to his knowledge, unless the particulars of any such commission and the terms of payment thereof have been previously disclosed in writing to the Engineer-in-Charge.
- (vii) If the contractor had secured the contract with the Government as a result of wrong tendering or other non-bonafide methods of competitive tendering or committed a breach of Integrity Agreement.
- (viii) If the contractor being an individual, or if a firm, any partner thereof shall at any time be adjudged insolvent or have a receiving order or order for administration of his estate made against him or shall take any proceedings for liquidation or composition (other than a voluntary liquidation for the purpose of amalgamation or reconstruction) under any Insolvency Act for the time being in force or make any conveyance or assignment of his effects or composition or arrangement for the benefit of his creditors or purport so to do, or if any application be made under any Insolvency Act for the time being in force for the sequestration of his estate or if a trust deed be executed by him for benefit of his creditors.
- (ix) If the contractor being a company shall pass a resolution or the court shall make an order that the company shall be wound up or if a receiver or a manager on behalf of a creditor shall be appointed or if circumstances shall arise which entitle the court or the creditor to appoint a receiver or a manager or which entitle the court to make a winding up order.
- (x) If the contractor shall suffer an execution being levied on his goods and allow it to be continued for a period of 21 days.
- (xi) If the contractor assigns (excluding part(s) of work assigned to other agency(s) by the contractor as per terms of contract), transfers, sublets (engagement of labor on a piece-work basis or of labor with materials not to be incorporated in the work, shall not be deemed to be subletting) or otherwise parts with or attempts to assign, transfer, sublet or otherwise parts with the entire works or any portion thereof without the prior written approval of the Engineer -in-Charge. When the contractor has made himself liable for action under any of the cases aforesaid, the Engineer-in-Charge on behalf of the President of India shall have powers:
- (a) To determine the contract as aforesaid so far as performance of work by the Contractor is concerned (of which determination notice in writing to the contractor under the hand of the Engineer-in-Charge shall be conclusive evidence). Upon such determination, Security Deposit already recovered, Security deposit payable and Performance Guarantee under the contract shall be liable to be forfeited and shall be absolutely at the disposal of the Government

(b) After giving notice to the contractor to measure up the work of the contractor and to take such whole, or the balance or part thereof, as shall be un-executed out of his hands and to give it to another contractor to complete the work. The contractor, whose contract is determined as above, shall not be allowed to participate in the tendering process for the balance work including any new items needed to complete the work. In the event of above courses being adopted by the Engineer-in-Charge, the contractor shall have no claim to compensation for any loss sustained by him by reasons of his having purchased or procured any materials or entered into any engagements or made any advances on account or with a view to the execution of the work or the performance of the contract. And in case action is taken under any of the provision aforesaid, the contractor shall not be entitled to recover or be paid any sum for any work thereof or actually performed under this contract unless and until the Engineer-in-Charge has certified in writing the performance of such work and the value payable in respect thereof and he shall only be entitled to be paid the value so certified.

## 3. WORK TO BE EXECUTED IN ACCORDANCE WITH SPECIFICATIONS, DRAWINGS, ORDERS ETC.

The contractor shall execute the whole and every part of the work in the most substantial and workmanlike manner both as regards materials and otherwise in every respect in strict accordance with the specifications. The contractor shall also conform exactly, fully and faithfully to the design, drawings and instructions in writing in respect of the work signed by the Engineer-in-Charge and the contractor shall be furnished free of charge one copy of the contract documents together with specifications, designs, drawings and instructions as are not included in the standard specifications of Central Public Works Department specified in Bid or in any Bureau of Indian Standard or any other, published standard or code or, Schedule of Rates or any other printed publication referred to elsewhere in the contract.

The contractor shall comply with the provisions of the contract and with the care and diligence execute and maintain the works and provide all labor and materials, tools and plants including for measurements and supervision of all works, structural plans and other things of temporary or permanent nature required for such execution and maintenance in so far as the necessity for providing these, is specified or is reasonably inferred from the contract. The Contractor shall take full responsibility for adequacy, suitability and safety of all the works and methods of construction.

### 4.DEVIATIONS/ VARIATIONS EXTENT AND PRICING

The Engineer-in-Charge shall have power

- (i) to make alteration in, omissions from, additions to, or substitutions for the original specifications, drawings, designs and instructions that may appear to him to be necessary or advisable during the progress of the work, and
- (ii) to omit a part of the works in case of non-availability of a portion of the site or for any other reasons and the contractor shall be bound to carry out the works in accordance with any instructions given to him in writing signed by the Engineer-in-Charge and such alterations, omissions, additions or substitutions shall form part of the contract as if originally provided therein and any altered, additional or substituted work which the contractor may be directed to do in the manner specified above as part of the works, shall

be carried out by the contractor on the same conditions in all respects including price on which he agreed to do the main work except as hereinafter provided.

- 4.1 The time for completion of the works shall, in the event of any deviations resulting in additional cost over the tendered value sum being ordered, be extended, if requested by the contractor, as follows:
- (i) In the proportion which the additional cost of the altered, additional or substituted work, bears to the original tendered value plus
- (ii) 25% of the time calculated in (i) above or such further additional time as may be considered reasonable by the Engineer-in-Charge
- 4.2 In the case of extra item(s) (items that are completely new, and are in addition to the items contained in the contract), the contractor may within fifteen days of receipt of order or occurrence of the item(s) submit market rate claim rates, supported by proper analysis which shall include invoices, vouchers etc. and Manufacturer's specification for the work failing which the rate approved later by the Engineer- in-charge shall be binding and the Engineer-in-Charge shall within prescribed time limit of the receipt of the claims supported by analysis, after giving consideration to the analysis of the rates submitted by the contractor, determine the rates on the basis of the market rates and the contractor shall be paid in accordance with the rates so determined, failing which it will be deemed to have been approved.
- 4.3 In the case of contract items which exceed the limits laid down in bid, the contractor may within fifteen days of receipt of order or occurrence of the excess, claim revision of the rates, supported by proper analysis for the work in excess of the above mentioned limits, provided that if the rates so claimed are in excess of the rates specified in the schedule of quantities, the Engineer-in-Charge shall within prescribed time limit of receipt of the claims supported by analysis, after giving consideration to the analysis of the rates submitted by the contractor, determine the rates on the basis of the market rates (as per invoice, vouchers from the manufacturers or suppliers submitted by the agency and duly verified by Engineer in Charge or his representative) and the contractor shall be paid in accordance with the rates so determined. The prescribed time limit for finalizing rates for Extra Item(s) and Deviated Quantities of contract items is within 45 days after submission of proposal by the contractor without observation of the Engineer-in-Charge.
- 4.4 For the purpose of operation of bid, the following works shall be treated as works relating to foundation unless & otherwise defined in the contract:
- (i) For Buildings: All works up to 1.2 meters above ground level or up to floor 1 level whichever is lower.
- (ii) For abutments, piers and well staining: All works up to 1.2 m above the bed level.
- (iii) For retaining walls, wing walls, compound walls, chimneys, overhead reservoirs/ tanks and other elevated structures: All works up to 1.2 meters above the ground level.
- (iv) For reservoirs/tanks (other than overhead reservoirs/tanks) : All works up to 1.2 meters above the ground level.
- (v) For basement: All works up to 1.2 m above ground level or up to floor 1 level whichever is lower.
- (vi) For Roads, all items of excavation and filling including treatment of sub base.

### 5. ACTION IN CASE WORK NOT DONE AS PER SPECIFICATIONS

All works under or in course of execution or executed in pursuance of the contract, shall at all times be open and accessible to the inspection and supervision of the Engineer-in charge, his authorized subordinates in charge of the work and all the superior officers, any of the organization engaged by the Institute for Quality Assurance and of the Chief Technical Examiner's Office, and the contractor shall, at all times, during the usual working hours and at all other times at which reasonable notice of the visit of such officers has been given to the contractor, either himself be present to receive orders and instructions or have a responsible agent duly accredited in writing, present for that purpose. Orders given to the Contractor's agent shall be considered to have the same force as if they had been given to the contractor himself.

If it shall appear to the Engineer-in-charge or his authorized subordinates in charge of the work or the officers of the organization engaged by the Institute for Quality Assurance or to the Chief Technical Examiner or his subordinate officers, that any work has been executed with unsound, imperfect, or unskillful workmanship, or with materials or articles provided by him for the execution of the work which are unsound or of a quality inferior to that contracted or otherwise not in accordance with the contract, the contractor shall, on demand in writing which shall be made within twelve months (six months in the case of work costing Rs. 10 Lac and below except road work) of the completion of the work from the Engineer-in-Charge specifying the work, materials or articles complained of notwithstanding that the same may have been passed, certified and paid for forthwith rectify, or remove and reconstruct the work so specified in whole or in part, as the case may require or as the case may be, remove the materials or articles so specified and provide other proper and suitable materials or articles at his own charge and cost. In the event of the failing to do so within a period specified by the Engineer-in- Charge in his demand aforesaid, then the contractor shall be liable to pay compensation at the same rate as under clause 30 of the contract (for non-completion of the work in time) for this default.

In such case the Engineer-in-Charge may not accept the item of work at the rates applicable under the contract but may accept such items at reduced rates as the authority specified in the bid may consider reasonable during the preparation of on account bills or final bill if the item is so acceptable without detriment to the safety and utility of the item and the structure or he may reject the work outright without any payment and/or get it and other connected and incidental items rectified, or removed and re-executed at the risk and cost of the contractor. Decision of the Engineer-in-Charge to be conveyed in writing in respect of the same will be final and binding on the contractor.

### 6. COMPENSATION FOR DELAY

If the contractor fails to maintain the required progress in terms of Clause 1 or to complete the work and clear the site on or before the contract or justified extended date of completion as per Clause 1 (excluding any extension under Clause 1.4) as well as any extension granted under Clause 4, he shall, without prejudice to any other right or remedy available under the law to the Government on account of such breach, pay as compensation the amount calculated at the rates stipulated below as the authority specified in bid may decide on the amount of accepted Tendered Value of the work for

every completed day/ month (as determined) that the progress remains below that specified in Clause 1.4 or that the work remains incomplete.

(i) Compensation for delay of work

With maximum rate @ 2.5% per month of delay to be computed on a per day basis based on the quantum of damage suffered due to stated delay on the part of the Contractor.

Provided always that the total amount of compensation for delay to be paid under this condition shall not exceed 10 % (ten percent) of the accepted Tendered Value of work or of the accepted Tendered Value of the Sectional part of work as mentioned in the bid for which a separate period of completion is originally given.

In case no compensation has been decided by the authority in bid during the progress of work, there shall be no waiver of right to levy compensation by the said authority if the work remains incomplete on the final justified extended date of completion. If the Engineer in Charge decides to give further extension of time allowing performance of work beyond the justified extended date, the contractor shall be liable to pay compensation for such extended period. If any variation in the amount of contract takes place during such an extended period beyond justified extended date and the contractor becomes entitled to additional time under Clause 4, the net period for such variation shall be accounted for while deciding the period for levy of compensation. However, during such further extended period beyond the justified extended period, if any delay occurs by events under sub Clause 1.1, the contractor shall be liable to pay compensation for such delay

Provided that compensation during the progress of work before the justified extended date of completion for delay under this clause shall be for non-achievement of sectional completion or part handing over of work on stipulated/justified extended date for such part work or if delay affects any other works/services. This is without prejudice to right of action by the Engineer in Charge under Clause 2 for delay in performance and claim of compensation under that clause.

In case action under Clause 1 has not been finalized and the work has been determined under Clause 2, the right of action under this clause shall remain post determination of contract but levy of compensation shall be for days the progress is behind the schedule on date of determination, as assessed by the authority in the bid, after due consideration of justified extension. The compensation for delay, if not decided before the determination of contract, shall be decided after the determination of contract.

## **7.** Carrying out part work at risk & cost of Contractor If contractor:

- (i) At any time makes default during currency of work or does not execute any part of the work with due diligence and continues to do so even after a notice in writing of 7 working days in this respect from the Engineer-in-Charge; or
- (ii) Commits default in complying with any of the terms and conditions of the contract and does not remedy it or takes effective steps to remedy it within 7 working days even after a notice in writing is given in that behalf by the Engineer-in-Charge; or Fails to complete the work(s) or items of work with individual dates of completion, on or before the date(s) so

determined, and does not complete them within the period specified in the notice given in writing in that behalf by the Engineer-in-Charge.

- (iii) The Engineer- in-Charge without invoking action under Clause 26 may, without prejudice to any other right or remedy against the contractor which have either accrued or accrue thereafter to Government, by a notice in writing to take the part work / part incomplete work of any item(s) out of his hands and shall have powers to:
- (a) Take possession of the site and any materials, constructional plant, implements, stores, etc., thereon; and/or
- (b) Carry out the part work / part incomplete work of any item(s) by any means at the risk and cost of the contractor.
- (iv) The Engineer-in-Charge shall determine the amount, if any, is recoverable from the contractor for completion of the part work/ part incomplete work of any item(s) taken out of his hands and execute at the risk and cost of the contractor, the liability of contractor on account of loss or damage suffered by Government because of action under this clause shall not exceed 10% of the tendered value of the work.

In determining the amount, credit shall be given to the contractor with the value of work done in all respect in the same manner and at the same rate as if it had been carried out by the original contractor under the terms of his contract, the value of contractor's materials taken over and incorporated in the work and use of plant and machinery belonging to the contractor.

- (v) The certificate of the Engineer-in-Charge as to the value of work done shall be final and conclusive against the contractor provided that action under this clause shall only be taken after giving notice in writing to the contractor. Provided also that if the expenses incurred by the department are less than the amount payable to the contractor at his agreement rates, the difference shall not be payable to the contractor.
- (vi) Any excess expenditure incurred or to be incurred by Government in completing the part

work/ part incomplete work of any item(s) or the excess loss of damages suffered or may be suffered by Government as aforesaid after allowing such credit shall without prejudice to any other right or remedy available to Government in law or per as agreement be recovered from any money due to the contractor on any account, and if such money is insufficient, the contractor shall be called upon in writing and shall be liable to pay the same within 30 days.

(vii) If the contractor fails to pay the required sum within the aforesaid period of 30 days, the Engineer-in-Charge shall have the right to sell any or all of the contractors' unused materials, constructional plant, implements, temporary building at site etc. and adjust the proceeds of sale thereof towards the dues recoverable from the contractor under the contract and thereafter there remains any balance outstanding, it shall be recovered in accordance with the provisions of the contract.

(viii) In the event of above course being adopted by the Engineer-in-Charge, the contractor shall have no claim to compensation for any loss sustained by him by reason of his having purchased or procured any materials or entered into any engagements or made any advance on any account or with a view to the execution of the work or the performance of the contract

8. REQUIREMENT OF TECHNICAL REPRESENTATIVE(S) AND RECOVERY RATE

<u> </u>	_ <b>~</b> ~	00.		LOCITIATIVE	 	
SI No.	Io. Technical staff		Minimum experience in Year	Designation	made from the	recovery shall be e contractor in the ulfilling provision of nical representative
		Number(of major + minor component)			Figures	Words
1	Graduate Engineer Or Diploma Engineer	1	Or 5	Project Manager cum Planning/ quality/ Site/billing Engineer	Rs 15000/-	Rupees fifteen Thousand only per month per person

The Retired Engineer/Asst. Engineers who are holding Diploma may be treated at par with Graduate Engineers for the operation of the Clause. Diploma holder with minimum 10 year relevant experience with a reputed construction company can be treated at par with Graduate Engineers subject to the condition that such diploma holders should not exceed 50% of requirement of degree engineers.

### 9. DEVIATION / VARIATION

Deviation Limit beyond which clauses

4.2 & 4.3 shall apply for building work : 30%

(i)Deviation Limit beyond which clauses

4.2 & 4.3 shall apply for foundation work : 30%

(Except Earth Work)

100%

(ii)Deviation Limit for items in earth work :

### 10. Settlement of Disputes & Arbitration

Except where otherwise provided in the contract, all questions and disputes relating to the meaning of the specifications, design, drawings and instructions here-in before mentioned and as to the quality of workmanship or materials used on the work or as to any other question, claim, right, matter or thing whatsoever in any way arising out of or relating to the contract, designs, drawings, specifications, estimates, instructions, orders or these conditions or otherwise concerning the works or the execution or failure to execute the same whether arising during the progress of the work or after the cancellation, termination, completion or abandonment thereof shall be dealt with as mentioned hereinafter:

I. If the contractor considers any work demanded of him to be outside the requirements of the contract, or disputes any drawings, record or decision given in writing by the Engineer-in-Charge or if the Engineer in Charge considers any act or decision of the contractor on any matter in connection with or arising out of the contract or carrying out of the work, to be unacceptable and is disputed, such party shall promptly within 15 days of the arising of the disputes request the Chairman (EWD), or where there is no Chairman (EWD) request the Director, IIT Palakkad who shall refer the disputes to Dispute Redressal Committee (DRC) within 15 days along with a list of disputes with amounts claimed if any in respect of each such dispute. The Dispute Redressal Committee (DRC) give its decision within a period of 60 days extendable by 30 days by consent of both the parties from the receipt of reference from Chairman (EWD) / Director, IIT Palakkad.

The constitution of the Dispute Redressal Committee (DRC) shall be as indicated in bid. Provided that no party shall be represented before the Dispute Redressal Committee by an advocate/legal counsel etc. The DRC will submit its decision to the concerned Chairman (EWD) / Director, IIT Palakkad for acceptance. Chairman (EWD) in a time limit of 30 days from receipt of DRC decision will convey acceptance or other wise on the said decision. If the Dispute Redressal Committee (DRC) fails to give its decision within the aforesaid period or the Chairman (EWD) / Director, IIT Palakkad fails to give his decision in the aforesaid time limit or any party is dissatisfied with the decision of Dispute Redressal Committee (Chairman (EWD) the neither party may within a period of 30 days from the receipt of the decision of Dispute Redressal Committee (DRC), Chairman (EWD) / Director, IIT Palakkad or on expiry of aforesaid the time limits available to DRC / Chairman (EWD) / Director IIT Palakkad may give notice to the Chairman (EWD) / Director, IIT Palakkad for appointment of arbitrator under intimation to the other party.

It is a term of contract that each party invoking arbitration must exhaust the aforesaid mechanism of settlement of claims/disputes prior to invoking arbitration. Director, IIT Palakkad shall be appointing authority to appoint the sole arbitrator within 30 days of receipt of such a request and refer such disputes to arbitration. It is a term of this contract that the party invoking arbitration shall give a list of disputes with amounts claimed, if any, in respect of each such dispute along with the notice for appointment of arbitrator and giving reference to the decision of the Chairman (EWD) / Director, IIT Palakkad on the finding / recommendation of DRC. Parties, before or at the time of appointment of Arbitral

Tribunal may agree in writing for fast track arbitration as per the Arbitration and Conciliation Act, 1996 (26 of 1996) as amended in 2015.

Subject to provision in the Arbitration and Conciliation Act, 1996 (26 of 1996) as amended in 2015 whereby the counter claims if any can be directly filed before the arbitrator without any requirement of reference by the appointing authority. The arbitrator shall adjudicate on only such disputes as are referred to him by the appointing authority and give separate award against each dispute and claim referred to him and in all cases where the total amount of the claims by any party exceeds Rs. 1,00,000/-, the arbitrator shall give reasons for the award. This fee shall be shared equally by parties The place of arbitration shall be Palakkad.

### 11. DISPUTE REDRESSAL COMMITTEE

Claim Amount	Up to 25 lakhs	More than 25 lakhs
Chairman	Chairman (EWD)	Director, IIT Palakkad
Member	Assistant Registrar (F&A)	Chairman (EWD)
Member	Vice Chairman (EWD)	Registrar
Presenting Officer	Executive Engineer, EWD	Executive Engineer, EWD

### 12. Action where no Specifications are Specified:

In the case of any class of work for which there are no such specifications as referred to in Clause 11, such work shall be carried out in accordance with the Bureau of Indian Standards Specifications. In case there are no such specifications in Bureau of Indian Standards, the work shall be carried out as per manufacturers' specifications, if not available then as per state/ District Specifications. In case there are no such specifications as required above, the work shall be carried out in all respects in accordance with the instructions and requirements of the Engineer-in-Charge

### 13. Minimum Wages Act to be Complied with

The contractor shall comply with all the provisions of the Minimum Wages Act, 1948, and Contract Labour (Regulation and Abolition) Act, 1970, amended from time to time and rules framed there under and other labour laws affecting contract labour that may be brought into force from time to time

### 14. Life Cycle Cost

The contractor shall be responsible for safety, quality and soundness of the buildings including structural elements beyond maintenance period. The contractor shall have obligation to rectify such defects minimum up to 5 (five) years from the date of completion of work. The defects have to be rectified within a reasonable time not exceeding three months after issue of notice by Engineer- in- Charge

### **15. Unfiltered water Supply**

The contractor(s) shall make his/their own arrangements for water required for the work unless specified that water will be provided by the Institute and nothing extra will be paid for the same. The contractor making his own arrangement for water will be subjected to the following conditions.

(i) That the water used by the contractor(s) shall be fit for construction purposes to the satisfaction of the Engineer-in-Charge.

### 16. Hire of Plant & Machinery

The contractor shall arrange at his own expense all tools, plant, machinery and equipment (hereinafter referred to as T&P) required for execution of the work.

### ANNEXURE I

### SCHEDULE OF QUANTITY

Name of work : Construction of Permanent Campus for IIT Palakkad under Phase 1A

Sub Head - Horticulture Work					
S	Sub Work - Horticulture Work around A1, K	1, K2 & I	_1 buildin	gs at Sahyadr	i Campus
Item no	Description of items	Quantit y	Unit	Rate	Amount
SH 1 : F	lorticulture work				
1.1	Trenching in ordinary soil up to a depth of 60 cm including removal and stacking of serviceable materials and then disposing of surplus soil, by spreading and neatly leveling within a lead of 500 m and making up the trenched area to proper levels by filling with earth or earth mixed with sludge or / and manure before and after flooding trench with water (excluding cost of imported earth, sludge or manure) etc. complete as per direction of Engineer-in-Charge.	600	Cum.	115.60	69368
1.2	Supplying and stacking of good earth brought from outside including transportation charges, loading, unloading and royalty (earth measured in stacks will be reduced by 20% for payment) etc. complete as per direction of Engineer-in-Charge.	412	Cum.	763.30	314460
1.3	Supplying and stacking sludge brought from outside including transportation charges, loading, unloading and royalty (sludge measured in stacks will be reduced by 8% for payment) etc. complete as per direction of Engineer-in-Charge.	91	Cum.	435.00	26754
1.4	Supplying and stacking at site dump manure from outside including transportation charges, loading, unloading (Manure measured in stacks will be reduced by 8% for payment) etc. Complete as per direction of Engineer-in-Charge.				

1.4.1	Screened through the sieve of I.S. designation 20mm	198	Cum.	376.22	74492
1.5	Spreading of sludge, dump manure over the good earth in required thickness as per direction of officer-in-charge (cost of sludge, dump manure and/ or good earth to be paid separately under items 1.3, 1.4, 1.2) etc. complete as per direction of Engineer-in-Charge.	289	Cum.	77.49	22396
1.6	Providing & laying grass turf (Semi Shade Buffalo Grass 35 to 40 % of the lawn area and Sun Loving selection 1 grass for balance area)as mentioned in drawing with earth 50mm to 60mm thickness of existing ground prepared with proper level and ramming with required tools wooden and than rolling the surface with light roller make the surface smoothen and establish properly, as per direction of the Engineer in charge.(Cost of earth will be paid separately under Item 1.2)	7000	Sqm.	260.00	1820000
1.7	Digging holes in ordinary soil and refilling the same with the excavated earth mixed with manure or sludge in the ratio of 2:1 by volume (2 parts of stacked volume of earth after reduction by 20%: 1 part of stacked volume of manure after reduction by 8%) flooding with water, dressing including removal of rubbish and surplus earth, if any, with all leads and lifts (cost of manure, sludge or extra good earth if needed to be paid for separately under 1.2,1.3,1.4):				
1.8	Holes 90 cm dia, and 90 cm deep	593	Each	211.80	125617
1.9	Plantation of Trees, Shrubs, and Hedge/ground covers at site i/c watering and removal of unserviceable materials as per direction of Engineer in charge (excluding cost of plant & water) The cost of plants shall be paid under relevant item of Sub Head 4				

1.9.1	Trees Plant as per the Tree List Given in SH 4.5, 4.3	593	Each	10.80	6408
1 1 4 / 1	Shrubs Plant as per the Shrub List Given in SH 4.4	1252	Each	5.40	6765
1.9.3	Hedge Plant, Ground Covers as per the Hedge List, Ground cover List Given in SH 4.1, 4.2	16000	Each	3.63	58029
1.10	Preparation of mounds of various size and shape by available excavated/supplied earth in layers not exceeding 20cm in depth,breaking clods,watering of each layer,dressing etc., lead upto 500 meter and lead upto 1.5 m complete as per direction of Engineer-in-charge.	1287	Cum.	456.35	587322
SH 2 : F	ertilizers				
2.1	Supply and application of DAP / Agromeal (Agromeal brand Godavari application @ 60 Gms/Sqm or Per Tree)	500	Kg	50.00	25000
2.2	Supply and application of Urea in gunny bags with minimum 46% Nitrogen (Urea brand Gromor application @ 60 gms /Sqm or Per Tree)		Kg	60.00	30000
2.3	Supply and application of Neem oil cake pulverized and decomposed well packed in bags (the weight of empty bag @ 1kg/bag shall be deducted from gross wt.) (Neem cake brand Godavari @ 100 gms/Sqm or Per Tree)	1000	Kg	60.00	60000
2.4	Supply and application of gypsum.(Garden Gypsum @ 100 gms/Sqm)	1000	Kg	34.00	34000
SH 3 : M	laintenance				

Complete maintenance of the entire garden for 3 months from the date of completion, features having as per yard stick in the garden area i.e. lawn trees shrubs, herbs, edge, flower beds foliages, creepers etc. including hoeing, weeding, pruning, replacement of plants, gap filling, watering, mowing of lawn, grass cutting by lawn mower and brush cutter, removal of garder waste, applying insecticide, pesticide & fertilizers (whenever required) together	7000	Per Sqm for 3 months	17.13	1,19,902
--	------	-------------------------------	-------	----------

# SH 4: Supplying and stacking of Ground covers, Hedge plants, lawn, and trees as per specification mentioned in the item below.

4.1	Supplying and stacking of Ground covers as per specification mentioned in				
	the item below.				
4.1.1	ALLAMANDA SCHOTTI COMPACTA	155	Each	35	5425
	(31 sqm Height 250-300 mm and 5				
	saplings /Sqm)				
4.1.2	ALTERNANTHERA BETTZICKIANA	835	Each	35	29225
	RED (34.8 sqmt Height 150-200 mm and				
	24 saplings /Sqm)				
4.1.3	ALTERNANTHERA VERSICOLOR (12	288	Each	45	12960
	sqm Height 150-200 mm and 24				
	saplings /Sqm)				
4.1.4	ANGELONIA AUGUSTIFOLIA (240 Sqm	1200	Each	53	63600
	Height 200-250 mm and 5 saplings				
	/Sqm)				

4.1.5	ASYSTASIA COROMANDALINA PURPUREA (126 sqm Height 250-300 mm and 5 saplings /Sqm)	630	Each	53	33390
4.1.6	ORANGE JASMINE ( 22 sqmt Height 250-300 mm and 5 saplings /Sqm)	110	Each	140	15400
4.1.7	CRINUM AMABILE ( 18.5 sq mt Height 350-400 mm and 1 saplings /Sqmt)	19	Each	60	1140
4.1.8	AMARYLLIS BELLADONA LILLY (226 sqmt Height 250-300 mm and 3 saplings /Sqmt)	678	Each	73	49494
4.1.9	IPOMOEA BATATAS CHARTREUSE( 109.5 sqmt Height 250-300 mm and 5 saplings /Sqmt)	548	Each	50	27400
4.1.10	IPOMOEA BATATAS PURPUREA (31.5 sqmt Height 250-300 mm and 5 saplings /Sqmt)	158	Each	50	7900
4.1.11	IXORA CHINENSIS (116 sqmt Height 250-300 mm and 3 saplings /Sqmt)	348	Each	57	19836
4.1.12	JACQUEMONTIA VIOLACEA (14 sqmt Height 250-300 mm and 3 saplings /Sqmt)	126	Each	57	7182
4.1.13	IXORA SINGAPORENSIS (24.5 sqmt Height 250-300 mm and 5 saplings /Sqmt)	123	Each	57	7011
4.1.14	PHALARIS SPECIES (201 sqmt Height 150-200 mm and 19 saplings /Sqmt)	3819	Each	45	171855
4.1.15	RUELLIA BRITTONIANA HYBRID(81 sqmt Height 150-200 mm and 19 saplings /Sqmt)	1539	Each	60	92340
4.1.16	CLERODENDRUM SPLENDONS (35 Sqmt Height 150-200 mm and 11 saplings /Sqmt)	385	Each	50	19250
4.1.17	SANSEVIERIA TRIFASCIATA (64.5 sqmt Height 250-300 mm and 5 saplings /Sqmt)	323	Each	133	42959
4.1.18	SENECIO CONFUSUS (45 Sqmt Height 250-300 mm and 3 saplings /Sqmt)	135	Each	109	14715
4.1.19	STACHYTARPHETA INDICA RED (30 Sqmt Height 250-300 mm and 3 saplings /Sqmt)	90	Each	57	5130
4.1.20	DIANTHUS (DWARF) (18.5 sqmt Height 250-300 mm and 5 saplings /Sqmt)	93	Each	50	4650

4.1.21	VARIEGATA NANA (DWARF) ( 21.5 sqmt Height 250-300 mm and 5 saplings /Sqmt)	108	Each	66	7128
4.1.22	• •	63	Each	73	4599
4.1.23	WEDELIA TRILOBATA (650 Sqmt Height 150-200 mm and 5 saplings /Sqmt)	3250	Each	35	113750
4.2	Supplying and stacking of Hedges as per specification mentioned in the item below.				
4.2.1	CAMELLIA SINENSIS (10.5 sqmt Height 250-300 mm and 5 saplings /Sqmt)	53	Each	75	3975
4.2.2	DURANTA REPENS VARIEGAT (79.8 sqmt Height 250-300 mm and 5 saplings /Sqmt)	399	Each	53	21147
4.2.3	MURRAYA PANICULATUM (17.8 sqmt Height 250-300 mm and 5 saplings /Sqmt)	89	Each	70	6230
4.3 Sup	plying and stacking of Palms as per spe	ecification	on mention	oned in the it	em below.
4.3.1	ARECA CATECHU (Height 2000-2500 mm and100-150 mm girth)	10	Each	1216	12160
4.3.2	KENTIA FORSTERIANA (Height 2000-2500 mm and 100-150 mm girth)	16	Each	750	12000
4.3.3	WODYETIA BIFURCATA (Height 2000-2500 mm and 100-150 mm girth)	14	Each	1002	14028
4.4 Sup	plying and stacking of Shrubs as per sp	ecificat	ion ment	ioned in the i	tem below.
4.4.1	ACALYPHA HISPIDA (Height 300-450 mm)	65	Each	66	4290
4.4.2	BOUGAINVILLIA (Height 300-450 mm)	1000	Each	93	93000
4.4.3	CAESALPINIA PULCHERIMA (Height 300-450 mm)	34	Each	53	1802
4.4.4	CALLIANDRA BREVIPES (Height 300-450 mm)	10	Each	66	660
4.4.5	CASSIA ALATA (Height 300-450 mm)	5	Each	80	400
4.4.6	CESTRUM NOCTURNUM (Height 300-450 mm)	3	Each	66	198

4.4.7	CODIAEUM VARIEGATUM HYBRIDUM (Height 300-450 mm)	3	Each	107	321
4.4.8	ERANTHEMUM PURPUREA (Height 300-450 mm)	10	Each	53	530
4.4.9	FURCREA WATSONANIA (Height 300-450 mm)	1	Each	283	283
4.4.10	LOROPETALUM CHINENSIS 'RUBRUM' (Height 300-450 mm)	7	Each	80	560
4.4.11	MUSSAENDA PHILIPPICA 'RED' (Height 300-450 mm)	7	Each	66	462
4.4.12	NERIUM OLEANDER 'PETITE SALMON' (Height 300-450 mm)	20	Each	66	1320
4.4.13	PHYLLOSTACHYS BAMBUSOIDES (Height 300-450 mm)	2	Each	93	186
4.4.14	TABERNAEMONTANA CORONARAIA FLORA-PLENO, TAGAR DOUBLE (Height 300-450 mm)	16	Each	60	960
4.4.15	SASA BAMBOO VARIEGATA (Height 300-450 mm)	16	Each	60	960
4.4.16	TECOMA GAUDICHAUDI (Height 300-450 mm)	2	Each	53	106
4.4.17	TECOMA STANS(Height 300-450 mm)	32	Each	57	1824
4.4.18	TECOMARIA CAPENSIS (Height 300-450 mm)	19	Each	53	1007
4.5 \$	Supplying and stacking of Trees as per s	specific	ation mer	itioned in the	e item below.
4.5.1	AILANTHUS EXCELSA (Height 2000-3000 mm and 150-200 mm Girth)	5	Each	1283	6415
4.5.2	ANTHOCEPHALUS KADAMBA (Height 2000-3000 mm and 150-200 mm Girth)	48	Each	413	19824
4.5.3	MIMOSOPS ELENGI (Height 2000-3000 mm and 150-200 mm Girth)	38	Each	426	16188
4.5.4	AZADIRACHTA INDICA (Height 2000-3000 mm and 150-200 mm Girth)	35	Each	413	14455
4.5.5	BAUHINIA ALBA (Height 2000-3000 mm and 150-200 mm Girth)	6	Each	426	2556
4.5.6	BAUHINIA BLAKEANA (Height 2000-3000 mm and 150-200 mm Girth)	26	Each	426	11076
4.5.7	BAUHINIA PURPUREA (Height 2000-3000 mm and 150-200 mm Girth)	15	Each	413	6195
4.5.8	CASSIA FISTULA (Height 2000-3000 mm and 150-200 mm Girth)	4	Each	1283	5132

4.5.9	CASSIA GRANDIS (Height 2000-3000 mm and 150-200 mm Girth)	18	Each	493	8874
4.5.10	CASSIA JAVANICA (Height 2000-3000 mm and 150-200 mm Girth)	6	Each	533	3198
4.5.11	CORDIA SEBESTENA (Height 2000-3000 mm and 150-200 mm Girth)	7	Each	1082	7574
4.5.12	COUROUPITA GUIANENSIS (Height 2000-3000 mm and 150-200 mm Girth)	1	Each	413	413
4.5.13	DALBERGIA LATIFOLIA (Height 2000-3000 mm and 150-200 mm Girth)	10	Each	413	4130
4.5.14	ERYTHRINA INDICA (Height 2000-3000 mm and 150-200 mm Girth)	26	Each	1216	31616
4.5.15	ERYTHRINA VARIEGATA 'PICTA' (Height 2000-3000 mm and 150-200 mm Girth)	7	Each	1685	11795
4.5.16	FICUS INFECTORIA (Height 2000-3000 mm and 150-200 mm Girth)	9	Each	413	3717
4.5.17	FICUA RELIGIOSA (Height 2000-3000 mm and 150-200 mm Girth)	1	Each	413	413
4.5.18	LAGERSTROEMIA INDICA (Height 2000-3000 mm and 150-200 mm Girth)	26	Each	292	7592
4.5.19	LAGERSTROEMIA SPECIOSA (Height 2000-3000 mm and 150-200 mm Girth)	15	Each	413	6195
4.5.20	LAGERSTROEMIA THORELII (Height 2000-3000 mm and 150-200 mm Girth)	10	Each	413	4130
	MARKHAMIA PLATYCALYX (Height 2000-3000 mm and 150-200 mm Girth)	39	Each	1700	66300
4.5.22	MILLINGTONIA HORTENSIS (Height 2000-3000 mm and 150-200 mm Girth)	15	Each	426	6390
4.5.23	MELIA AZEDARACH (Height 2000-3000 mm and 150-200 mm Girth)	6	Each	426	2556
4.5.24	MELIA DUBIA (Height 2000-3000 mm and 150-200 mm Girth)	4	Each	426	1704
4.5.25	MESUA FERREA (Height 2000-3000 mm and 150-200 mm Girth)	3	Each	1800	5400
4.5.26	MICHELIA CHAMPACA 'SOUNDARYA' (Height 2000-3000 mm and150-200 mm Girth)	3	Each	413	1239
4.5.27	PELTOPHORUM PTEROCARPUM (Height 2000-3000 mm and 150-200 mm Girth)	13	Each	413	5369
4.5.28	PLUMERIA OBTUSA (Height 2000-3000 mm and 150-200 mm Girth)	12	Each	1417	17004

4.5.29	PLUMERIA RUBRA 'YELLOW' (Height 2000-3000 mm and 150-200 mm Girth)	7	Each	1417	9919
4.5.30	PTEROSPERMUM ACERIFOLIUM (Height 2000-3000 mm and 150-200 mm Girth)	3	Each	1216	3648
4.5.31	SARACA INDICA (Height 2000-3000 mm and 150-200 mm Girth)	34	Each	1350	45900
4.5.32	SPATHODIA CAMPANULATA (Height 2000-3000 mm and 150-200 mm Girth)	5	Each	413	2065
4.5.33	SYZYGIUM CUMINI (Height 2000-3000 mm and 150-200 mm Girth)	45	Each	413	18585
4.5.34	TABEBUIA ROSEA (Height 2000-3000 mm and 150-200 mm Girth)	40	Each	413	16520
4.5.35	THESPESIA POPULNEA (Height 2000-3000 mm and 150-200 mm Girth)	11	Each	413	4543
Total Amount (Incl of all taxes and other charges)		46,93,892			

## ANNEXURE-II ELIGIBILITY CRITERIA FOR BIDDERS

### LIST OF DOCUMENT TO BE SCANNED AND UPLOADED WITHIN THE PERIOD OF BID SUBMISSION

Only those bidders fulfilling the following eligibility are eligible.

- 1. Enlisted contractors of CPWD, MES, BSNL, Kerala State PWD of appropriate class in Horticulture.
- 2. Eligibility criteria for Non enlisted contractors / Non working contractor with IITS, IISC, NITs / Central University. They should have completed satisfactorily completed the works as mentioned below during the last five years ending previous day of last date of submission of bid:

THREE similar completed works each costing not less than the amount equal to **Rs.18 lakh** 

75.10 Ia

(OR)

TWO similar completed works each costing not less than the amount equal to Rs.28 lakh

(OR)

ONE similar completed works each costing not less than the amount equal to **Rs.37 lakh** 

"Cost of work" for this clause shall mean completed cost of work as mentioned in the final bill, if any, carried out under a single contract including cost of materials, if any, supplied by clients. However, the cost of materials issued free of cost shall not be considered for calculating the cost of work. The value of executed works shall be brought to current costing level by enhancing the actual value of work at a simple rate of 7% per annum; calculated from the date of completion to the last date of receipt of applications for bids. "Similar work" for this clause means "Horticulture works / Horticulture work as completed part of building work shall also be considered for eligibility provided value of Horticulture work under each contract satisfy the condition of cost not less than mentioned above"

### **ANNEXURE - III**

## LIST OF DOCUMENTS TO BE SCANNED AND UPLOADED WITH IN THE PERIOD OF BID SUBMISSION

- 1. Information related to the agency/bidder such as photocopies of the Registration/PAN/GST/TIN shall be furnished.
- 2. GST registration Certificate of the Kerala State if already obtained by the bidder.
- 3. If the bidder has not obtained GST registration of Kerala State as required by GST Authorities, then in such a case the bidder shall scan and upload the following undertaking along with other bid documents.
  - "If work is awarded to me, I/We shall obtain GST registration certificate of the Kerala State, within one month from the date of receipt of award letter or before release of any payment by IITPKD, whichever is earlier, failing which I/We shall be responsible for any delay in payments which will be due towards me/us on a/c of the work executed and/or for any action taken by IITPKD or GST Department in this regard".
- 4. Letter of Transmittal
- 5. Digitally signed tender documents should be uploaded in Cover One.
- 6. Has the firm ever been debarred/blacklisted by any Govt. Organization/Dept.? If 'yes' the details thereof (Please upload supporting document). Is any person working with the applicant a near relative of the Employees of IIT Palakkad? If yes, give details (Separate declaration to be uploaded along
  - with tender document in Annexure XI)

## Annexure-IV FORM OF PERFORMANCE SECURITY

### BANK GUARANTEE BOND

oetwe (here	kad") en inafte	consideration of the Indian Institute of Technology Palakkad (hereinafter called "IIT having offered to accept the terms and conditions of the proposed agreementandand
navinç Rupe	g agr	(hereinafter called "the said agreement") eed to production of a irrevocable Bank Guarantee for Rs(only) as a security /guarantee from the contractor(s) for compliance of his in accordance with the terms and conditions in the said agreement.
1	1.	We (Hereinafter referred to as "the
		(Indicate the name of the Bank)
2	2.	Bank") hereby undertake to pay to the IIT Palakkad an amount not exceeding  Rs
		undertake to pay the amounts due and payable under this Guarantee without any demure, merely on a demand from the IIT Palakkad stating that the amount claimed is required to meet the recoveries due or likely to be due from the said contractors. Any such demand made on the Bank shall be conclusive as regards the amount due and payable by the Bank under this Guarantee. However, our liability under this guarantee
		shall be restricted to an amount not exceeding Rs
3	3.	(Rupeesonly).  We, the said Bank further undertake to pay to the IIT Palakkad any money so demanded notwithstanding any dispute or disputes raised by the contractors in any suit or proceeding pending before any Court or Tribunal relating thereto, our liability under this present being absolute and unequivocal. The payment so made by us under this bond shall be a valid discharge of our liability for payment there under and the contractors shall have no claim against us for making such payment.
2	4.	We(indicate the name of the Bank) further agree that the guarantee herein contained shall remain in full force and effect during the period that would be taken for the performance of the said agreement and that it shall continue to be enforceable till all the dues of the IIT Palakkad under or by virtue of the said agreement have been fully paid and its claims satisfied or discharged or till Engineer-in-Charge on

behalf of the government certified that the terms and conditions of the said agreement have been fully and properly carried out by the said contractors and accordingly discharges this guarantee.

5.	We
6.	his guarantee will not be discharged due to the change in the constitution of the Bank or ne contractor(s).
7.	Ve (Indicate the name of the Bank) lastly undertake not to evoke this guarantee except with the previous consent of the Government in writing.
re a e:	This guarantee shall be valid up to unless extended on demand by IIT akkad. Notwithstanding anything mentioned above, our liability against this guarantee is cricted to Rs (Rupees only) unless a claim in writing is lodged with within six months of the date of expiry or the ended date of expiry of this guarantee all our liabilities under this guarantee shall stand charged.
Date d	thefor
	(Indicate the name of Bank).

### **ANNEXURE-V**

### **DECLARATION**

We hereby undertake that there are pages, serially numbered, in the submitted tender including the supporting documents. (Please serial number all the pages including blank pages, if any). We have submitted our principal's exclusive authorization letter which is specific for this tender No. dated .

Signature and Seal of the Bidder

### **ANNEXURE-VI**

### FALL CLAUSE NOTICE CERTIFICATE

(To Be Submitted Only Through Online Mode in Appropriate Format)

This is to certify that we have offered the maximum possible discount to you in our Quotation No. dated (Please do not reveal the prices here, which will lead to outright rejection of your bid). The prices charged for the Stores supplied under tender should under no event be higher than lowest prices at which the party sells the items of identical description to any other Govt. organization/PSU"s/Central Govt, /State Govt. Autonomous bodies/Central/state Universities/Central/State Educational Institutions, failing which the "FALL CLAUSE" will be applicable. The institute will look into a reasonable past period to ensure this. In case, if the price charged by our firm is found to be more, IIT Palakkad will have the right to recover the excess charged amount from the subsequent/unpaid bill of the Contractor.

#### Note:

This letter of authority should be on the letterhead of the quoting firm and should be signed by a Competent Authority and having the power of attorney.

### ANNEXURE VII

### LETTER OF TRANSMITTAL

(To be duly filled, signed, scanned and uploaded along with e-cover 1 by the tenderer)

To

Tender no. 17/ IITPKD/EWD/HORT/2024-25/013

The Chairman, EWD IIT Palakkad

Sir,

Having examined the details given in notice inviting qualification application and tender and the qualification documents for the above work, I / We hereby submit the application for eligibility and the tender (financial bid) for the work duly filled in.

- 1. I / We hereby certify that all the statements made, and information supplied in the enclosed forms and accompanying statements are true and correct.
- 2. I/ We have furnished all information and details necessary for deciding our eligibility to be qualified for taking part in the tendering process for the work. We have no further information to supply.
- 3. I / We submit the requisite certificate as per Annexure II and authorize the CHAIRMAN EWD to approach the Department concerned to confirm the correctness of the certificate. We also authorize the CHAIRMAN, EWD to approach individuals, firms and corporations to verify our competence and general reputation.
- 4. I/We submit the following certificates in support of our suitability, technical know-how and capability for having successfully completed following works.

Name of work

Certificate from

- 5. I/We certify that the tender documents uploaded is the exact replica of the document published by the IITPKD and no alterations and additions have been made by me/us in the e- tender document.
- 6. I am /We are aware that the Financial bid submitted by me/us will not be opened if I/We do not become eligible after evaluation of my/our application for eligibility.
- 7. 1/We certify that the proof of payment of EMD in the E-wizard portal and uploaded while submitting the e- Wizard.
- 8. I/we agree that the eligibility criteria submissions will become part of the contract.

Seal of the Applicant

Date of submission

Signature(s) of the applicants

#### Annexure VIII

### Notice for appointment of Arbitrator

Dear Sir, In terms of para 1 of the agreement (GCC) particulars of which are given below, I/we hereby give notice to you to appoint an arbitrator for settlement of disputes mentioned below:

- 1. Name of applicant
- 2. Whether the applicant is Individual/Prop. Firm/Partnership Firm/Ltd. Co.
- 3. Full address of the applicant
- 4. Name of the work and contract number in which arbitration sought
- 5. Name of the Division which entered into contract
- 6. Contract amount in the work
- 7. Date of contract
- 8. Date of initiation of work
- 9. Stipulated date of completion of work
- 10. Actual date of completion of work (if completed)
- 11. Total number of claims made
- 12. Total amount claimed
- 13. Date of intimation of final bill (if work is completed)
- 14. Date of payment of final bill (if work is completed)
- 15. Amount of final bill (if work is completed)
- 16. Date of appeal to you
- 17. Date of receipt of your decision.

Specimen signatures of the applicant (only the person/authority who signed the contract should sign)

I/We certify that the information given above is true to the best of my/our knowledge.

I/We enclose the following documents.

- 1. We have exhausted provision of DRC as per clause 25 of this agreement.
- 2. Statement of claims with amount of claims.
- 3.
- 4.
- 5.

Yours faithfully,

(Signatures)

Copy in duplicate to:

1. The Executive Engineer (Civil), EWD

#### ANNEXURE - IX

## REFERENCE OF DISPUTES AND AMOUNT CLAIMED FOR EACH DISPUTE TO THE CHAIRMAN (EWD).

v

The Chairman (EWD)

In terms of para 1 of the aforesaid agreement, particulars of which are given below, I/We hereby refer my / our disputes and amount claimed for each dispute to you in your capacity as Conciliator and request for your proposal for settlement relating to agreement number:

.....

- 1. Name of Applicant
- 2. Whether applicant is individual/Prop. Firm/Partnership Firm/Ltd.Co.
- 3. Full address of the applicant
- 4. Name of the work and contract number in which arbitration sought
- 5. Name of the Division which entered into contract
- 6. Contract amount in the work
- 7. Date of Contract
- 8. Date of initiation of work
- 9. Stipulated date of completion of work
- 10. Actual date of completion of work (if completed)
- 11. Total number of claims made
- 12. Total amount claimed

Vours faithfully

- 13. Date of intimation of final bill (if work is completed)
- 14. Date of payment of final bill (if work is completed
- 15 Amount of final bill (if work is completed)
- 16. Date of Claim made to Engineer-in-Charge
- 17. Date of receipt of decision from Engineer-in-Charge

I/We certify that the information given above is true to the best of my/our knowledge. I/We enclose the following documents.

1. Statement of claims with amount of each claim.

Tours raining, .	
Signature of the applicant (Only the person/authority who s	signed the contract should sign here)
Copy to:	

The Engineer-in-Charge / Name of Contractor

### Annexure X

## FORM OF APPLICATION BY THE CONTRACTOR FOR SEEKING EXTENSION OF TIME

- 1. Name of contractor
- 2. Name of work as given in the agreement
- 3. Agreement no
- 4. Estimated amount put to tender
- 5. Date of commencement of work as per agreement
- 6. Period allowed for completion of work as per agreement
- 7. Date of completion stipulated in agreement
- 8. Period for which extension of time if has been given by approval authority

letter no. and date	Extension granted		
	Months	Days	
(a) 1st extension			
(b) 2nd extension			
(c) 3rd extension			
(d) 4th extension			
(e) Total extension previously given			

- 9. Reasons for which extension have been previously given (copies of the previous applications should be attached)
- 10. Period for which extension if applied for
- 11. Hindrances on account of which extension is applied for with dates on which hindrances occurred and the period for which these are likely to last is to be Submitted to the Authority With copy to the Engineer-in-charge.

Submitted to th	e Authority with	copy to the	Enaineer-in-ch	narde

Signature of	f Contractor	Dated	 
Jigilalule U	Contractor	Daicu	 

### Annexure - XI

FORMAT OF UNDERTAKING, TO BE FURNISHED ON COMPANY LETTER HEAD WITH REGARD TO BLACKLISTING/ NON- DEBARMENT, BY ORGANISATION

UNDERTAKING REGARDING BLACKLISTING / NON – DEBARMENT
We hereby confirm and declare that we, M/s, is not blacklisted. De-registered/ debarred by any Government department/ Public Sector Undertaking/ Private Sector/ or any other agency for which we have Executed/ Undertaken the works/ Services
For
Authorized Signatory
Date: